M= A\ - .
E B\ Multiplicera decimaler med 10,100,1000

namn: Datum: Poiing:
7,772 x 1000 = 2,37 x10 =
1,455 x 10 = 7,905 x 1000 =
9, 181 x 100 = 3,605 x 100 =
5,373 x 100 = 7,866 x 10 =
3,672 x 10 = 3,738 x 1000 =
5,523 x 1000 = 8,653 x 10 =
8,047 x 1000 = 5,751 x 10 =
8,019 x 10 = 2,667 x 1000 =
1,814 x 1000 = 4,106 x 1000 =
1,363 x 1000 = 8,375 x 1000 =
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Multiplicera decimaler med 10,100,1000

namn:

7,772 x 1000 = 7772

1,455 x 10 = 14.55

9,181 x 100 =918.1

5,373 x 100 = 537.3

3,672 x10=36.72

5,523 x 1000 = 5523

8,047 x 1000 = 8047

8,019 x 10 = 80.19

1,814 x 1000 = 1814

1,363 x 1000 = 1363

Datum:

2,37 x10=23.7

7,905 x 1000 = 7905

3,605 x 100 = 360.5

7,866 x 10 = 78.66

3,738 x 1000 = 3738

8,653 x 10 = 86.53

5,751 x 10 =57.51

2,667 x 1000 = 2667

4,106 x 1000 = 4106

8,375 x 1000 = 8375
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